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Directions: You must show ALL your work to receive credit.

1. (25 pts) Find the area of the region bounded by y = z and y = 23. For full credit your

solution should include a graph and diagrams of the appropriate infinitesimal rectangle(s).

2. (25pts) Let us give the region bounded by y = z? and y = 1/z the name Dwight . Find the
volume of the solid obtained from rotating Dwight around the following:
() £ =8
(ii.) z=a, a<0
(iii.) z=a, a>1
(iv.)) y=0
(v.) y=b, b<0
(vi.) y=b, b>1
Do the above one at a time. <1 ° " Yone AT vae ceeee aloje Again for full
credit your solution should include a graph of the region as well as some picture of the typical
approximating washer with r;, and r,,; as they relate to the region in question (could be y, or
yr or g, or £x as we have seen in examples). In other words, present your solution roughly as
I have in class, try to indicate where the final integral came from. The set-up is worth most
of the points on a problem like this.

4. (15pts) Find volume of a square pyramid which has its top cut off at height h. Suppose that -
the each side of the base of pyramid has length a. The top of the shape is coplanar to the
base and the top forms a square with sides of length ¢. Your answer will be in terms of the
constants o, c and h.
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